



---

**RATIONAL EXPRESSIONS OF ARITHMETIC AND GEOMETRIC MEANS FOR  
THE SEQUENCE  $(n^p)_{n \in \mathbb{N}}$  AND THE GEOMETRIC PROGRESSION**

MIU KINEGAWA, SAYAKA MIYAMOTO, AND YUSUKE NISHIZAWA

*Received 15 July, 2020; accepted 21 December, 2020; published 8 March, 2021.*

FACULTY OF EDUCATION, SAITAMA UNIVERSITY, SHIMO-OKUBO 255, SAKURA-KU, SAITAMA-CITY,  
SAITAMA, JAPAN.

m.kinegawa.645@ms.saitama-u.ac.jp

FACULTY OF EDUCATION, SAITAMA UNIVERSITY, SHIMO-OKUBO 255, SAKURA-KU, SAITAMA-CITY,  
SAITAMA, JAPAN.

s.miyamoto.245@ms.saitama-u.ac.jp

FACULTY OF EDUCATION, SAITAMA UNIVERSITY, SHIMO-OKUBO 255, SAKURA-KU, SAITAMA-CITY,  
SAITAMA, JAPAN.

ynishizawa@mail.saitama-u.ac.jp

**ABSTRACT.** In this paper, we consider the arithmetic and geometric means for the sequence  $(n^p)_{n \in \mathbb{N}}$  and the geometric progression. We obtain the results associated with the rational expressions of the means.

*Key words and phrases:* Rational expression; Arithmetic mean; Geometric mean; Sequence of  $(n)_n \in \mathbb{N}$ ; Geometric progression.

*2010 Mathematics Subject Classification.* Primary 40A05, 40A30, Secondary 26E60, 26D15.

## 1. INTRODUCTION

We assume that  $(a_n)$  is a sequence of the positive real number, then the arithmetic mean of  $a_1, a_2, \dots, a_n$  is defined by

$$A(a_1, a_2, \dots, a_n) = \frac{1}{n} \sum_{k=1}^n a_k$$

and the geometric mean of  $a_1, a_2, \dots, a_n$  is defined by

$$G(a_1, a_2, \dots, a_n) = \left( \prod_{k=1}^n a_k \right)^{\frac{1}{n}}.$$

It is known that McCartin [4] asserts  $\lim_{n \rightarrow \infty} \frac{A(1,2,\dots,n)}{G(1,2,\dots,n)} = \frac{e}{2}$  and Knopp [2] in Problem 96, presented  $\lim_{n \rightarrow \infty} \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} = \frac{e}{2}$ , where the sequence  $(a_n)$  is the arithmetical progression with the positive equal difference. Recently, Hassani [6] proved that the rational expression  $\frac{A(1,2,\dots,n)}{G(1,2,\dots,n)}$  is strictly increasing for the integer  $n > 1$ , the inequality  $\frac{A(1,2,\dots,n)}{G(1,2,\dots,n)} < \frac{e}{2}$  and  $\frac{A(1,2,\dots,n)}{G(1,2,\dots,n)} = \frac{e}{2} + O\left(\frac{\ln n}{n}\right)$  hold for the integer  $n \geq 1$ . Moreover, Hassani [7] showed that  $\frac{A(p_1, p_2, \dots, p_n)}{G(p_1, p_2, \dots, p_n)} = \frac{e}{2} + O\left(\frac{1}{\ln n}\right)$ , where  $p_n$  denotes the  $n$ th prime number. As mentioned above, the rational expression  $\frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)}$  has interesting properties. In this paper, we consider the two rational expressions  $\frac{A(1^p, 2^p, \dots, n^p)}{G(1^p, 2^p, \dots, n^p)}$  and  $\frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)}$ , where the sequence  $(a_n)$  is the geometric progression with the positive geometric ratio. Here, we have the following theorems.

**Theorem 1.1.** *We have*

$$\lim_{n \rightarrow \infty} \frac{A_{n,p}}{G_{n,p}} = \frac{e^p}{1+p}$$

for  $p > -1$  and

$$\lim_{n \rightarrow \infty} \frac{A_{n,p}}{G_{n,p}} = \infty$$

for  $p \leq -1$ , where  $A_{n,p} = A(1^p, 2^p, \dots, n^p)$  and  $G_{n,p} = G(1^p, 2^p, \dots, n^p)$ .

Kubelka [3] proved that  $\lim_{n \rightarrow \infty} \frac{A(1^p, 2^p, \dots, n^p)}{G(1^p, 2^p, \dots, n^p)} = \frac{e^p}{1+p}$  for  $p \geq 0$ . From the Kubelka's result, Hassani [5] showed that there exists a real positive sequence  $(a_n)$  such that  $\lim_{n \rightarrow \infty} \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} = c$  for any  $c \geq 1$ . Since we consider the case of the any real number  $p$ , Theorem 1.1 is an extended the Kubelka's result. From Theorem 1.1, we have the following corollary immediately.

**Corollary 1.2.** *Let  $c$  be the real number with  $c > 1$ , then there exists two real positive sequences  $(a_n)$  such that  $\lim_{n \rightarrow \infty} \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} = c$ .*

**Theorem 1.3.** *Let  $n$  be the integer with  $n > 1$ , then the rational expression  $\frac{A_{n,p}}{G_{n,p}}$  is strictly increasing for  $p > 0$ , where  $A_{n,p} = A(1^p, 2^p, \dots, n^p)$  and  $G_{n,p} = G(1^p, 2^p, \dots, n^p)$ .*

**Theorem 1.4.** *Let the sequence  $(a_n)$  be the geometric progression with the geometric ratio  $r > 0$ , then we have*

$$r^{\frac{n-1}{2}} n^\alpha < \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} < r^{\frac{n-1}{2}} n^\beta$$

for  $r > 1$  and

$$r^{\frac{1-n}{2}} n^{\tilde{\alpha}} < \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} < r^{\frac{1-n}{2}} n^{\tilde{\beta}}$$

for  $0 < r < 1$ , where  $\alpha = \tilde{\alpha} = -1$  and  $\beta = \tilde{\beta} = 0$  are the best possible constants. Moreover we have

$$\lim_{n \rightarrow \infty} \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} = \infty$$

**Theorem 1.5.** Let the sequence  $(a_n)$  be the geometric progression with the positive geometric ratio  $r \neq 1$ , then the rational expression  $\frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)}$  is strictly increasing for the integer  $n > 1$  and the convex sequence.

## 2. PROOF OF MAIN RESULTS

The following Lemma 2.1 is proved by Hummel in [1].

**Lemma 2.1.** We have

$$e^{\frac{11}{12}-n} n^{n+\frac{1}{2}} < n! < e^{1-n} n^{n+\frac{1}{2}}$$

for the integer  $n > 1$ .

*Proof of Theorem 1.1.* We have

$$\frac{A_{n,p}}{G_{n,p}} = \frac{\sum_{k=1}^n k^p}{n \cdot n!^{\frac{p}{n}}}.$$

First, we consider the case of  $p > 0$  and the integer  $n > 1$ . From Lemma 2.1 and the inequality

$$\int_1^n x^p dx + 1 < \sum_{k=1}^n k^p < \int_1^{n+1} x^p dx$$

holds for  $p > 0$  and the integer  $n > 1$ , we can get

$$\frac{A_{n,p}}{G_{n,p}} < \frac{\int_1^{n+1} x^p dx}{n \left( e^{\frac{11}{12}-n} n^{n+\frac{1}{2}} \right)^{\frac{p}{n}}} = \frac{e^p}{1+p} \cdot \frac{\left(1 + \frac{1}{n}\right)^{1+p} - \frac{1}{n^{1+p}}}{e^{\frac{11p}{12n}} n^{\frac{p}{2n}}} = F(n, p)$$

and

$$\frac{A_{n,p}}{G_{n,p}} > \frac{\int_1^n x^p dx + 1}{n \left( e^{1-n} n^{n+\frac{1}{2}} \right)^{\frac{p}{n}}} = \frac{e^p}{1+p} \cdot \frac{1 + \frac{p}{n^{1+p}}}{e^{\frac{p}{n}} n^{\frac{p}{2n}}} = G(n, p)$$

for  $p > 0$  and the integer  $n > 1$ . Next, we consider the case of  $p < 0$  and the integer  $n > 1$ . From Lemma 2.1 and the inequality

$$\int_1^{n+1} x^p dx < \sum_{k=1}^n k^p < \int_1^n x^p dx + 1$$

holds for  $p < 0$  and the integer  $n > 1$ , we can get

$$\frac{A_{n,p}}{G_{n,p}} < \frac{\int_1^n x^p dx + 1}{n \left( e^{\frac{11}{12}-n} n^{n+\frac{1}{2}} \right)^{\frac{p}{n}}} = H(n, p) = \begin{cases} \frac{e^p}{1+p} \cdot \frac{1 + \frac{p}{n^{1+p}}}{e^{\frac{11p}{12n}} n^{\frac{p}{2n}}} & (p \neq -1) \\ (\ln n + 1) e^{\frac{11}{12n}-1} n^{\frac{1}{2n}} & (p = -1) \end{cases}$$

and

$$\frac{A_{n,p}}{G_{n,p}} > \frac{\int_1^{n+1} x^p dx}{n \left( e^{1-n} n^{n+\frac{1}{2}} \right)^{\frac{p}{n}}} = I(n, p) = \begin{cases} \frac{e^p}{1+p} \cdot \frac{\left(1 + \frac{1}{n}\right)^{1+p} - \frac{1}{n^{1+p}}}{e^{\frac{p}{n}} n^{\frac{p}{2n}}} & (p \neq -1) \\ (\ln(1+n)) e^{\frac{1}{n}-1} n^{\frac{1}{2n}} & (p = -1) \end{cases}$$

for the integer  $n > 1$ . By  $\lim_{n \rightarrow \infty} n^{\frac{1}{n}} = 1$ , we obtain

$$\begin{aligned}\lim_{n \rightarrow \infty} F(n, p) &= \lim_{n \rightarrow \infty} G(n, p) = \frac{e^p}{1+p} \quad \text{for } p > 0, \\ \lim_{n \rightarrow \infty} H(n, p) &= \lim_{n \rightarrow \infty} I(n, p) = \frac{e^p}{1+p} \quad \text{for } -1 < p < 0, \\ \lim_{n \rightarrow \infty} H(n, p) &= \lim_{n \rightarrow \infty} I(n, p) = \infty \quad \text{for } p < -1\end{aligned}$$

and

$$\lim_{n \rightarrow \infty} H(n, -1) = \lim_{n \rightarrow \infty} I(n, -1) = \infty.$$

If  $p = 0$  then  $\frac{A_{n,0}}{G_{n,0}} = 1 = \frac{e^0}{1+0}$ , hence we can prove  $\lim_{n \rightarrow \infty} \frac{A_{n,p}}{G_{n,p}} = \frac{e^p}{1+p}$  for  $p > -1$  and  $\lim_{n \rightarrow \infty} \frac{A_{n,p}}{G_{n,p}} = \infty$  for  $p \leq -1$ . ■

*Proof of Corollary 1.2.* We set  $F(p) = \frac{e^p}{1+p}$  and the derivative of  $F(p)$  is  $F'(p) = \frac{e^p p}{(1+p)^2}$ . If  $-1 < p < 0$  then  $F'(p) < 0$  and  $\lim_{p \rightarrow -1+0} F(p) = \infty$ . If  $p > 0$  then  $F'(p) > 0$  and  $\lim_{p \rightarrow \infty} F(p) = \infty$ . Hence, for any  $c > 1$ , we have the two real numbers  $s$  and  $t$  with  $-1 < s < 0 < t$  such that  $F(s) = F(t) = c$ . Therefore we have

$$\lim_{n \rightarrow \infty} \frac{A(1^s, 2^s, \dots, n^s)}{G(1^s, 2^s, \dots, n^s)} = \lim_{n \rightarrow \infty} \frac{A(1^t, 2^t, \dots, n^t)}{G(1^t, 2^t, \dots, n^t)} = c$$

and the proof of Corollary 1.2 is complete. ■

*Proof of Theorem 1.3.* We set  $F(n, p) = \frac{\sum_{k=1}^n k^p}{n \cdot n!^{\frac{p}{n}}}$  and the derivative of  $F(n, p)$  is

$$\frac{\partial F}{\partial p}(n, p) = \frac{n \sum_{k=1}^n k^p \ln k - \sum_{k=1}^n k^p \sum_{k=1}^n \ln k}{n^2 n!^{\frac{p}{n}}}.$$

If  $p \geq 0$  then we have  $1^p \leq 2^p \leq \dots \leq n^p$  and  $\ln 1 < \ln 2 < \dots < \ln n$ . From Chebyshev inequality, we can obtain

$$n \sum_{k=1}^n k^p \ln k \geq \sum_{k=1}^n k^p \sum_{k=1}^n \ln k$$

with equality if and only if  $p = 0$ . Therefore, we have  $\frac{\partial F}{\partial p}(n, p) > 0$  for  $p > 0$  and  $\frac{A_{n,p}}{G_{n,p}}$  is strictly increasing for  $p > 0$ . ■

*Proof of Theorem 1.4.* We have

$$\frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} = \frac{r^{\frac{1-n}{2}} (-1 + r^n)}{n(-1 + r)}.$$

First, we consider the equation

$$\frac{r^{\frac{1-n}{2}} (-1 + r^n)}{n(-1 + r)} = n^{F(n,r)} r^{\frac{n-1}{2}}$$

for  $r > 1$  and the integer  $n > 1$ . The equation is equivalent to

$$F(n, r) = \frac{(1-n)\ln r + \ln(-1 + r^n) - \ln n - \ln(-1 + r)}{\ln n}$$

and the derivative of  $F(n, r)$  is

$$\frac{\partial F}{\partial r}(n, r) = \frac{1 - n + nr - r^n}{(-1 + r)r(-1 + r^n)\ln n} = \frac{G(n, r)}{(-1 + r)r(-1 + r^n)\ln n}.$$

The derivative of  $G(n, r)$  is  $\frac{\partial G}{\partial r}(n, r) = n - nr^{-1+n} < 0$  for  $r > 1$  and the integer  $n > 1$ . Since  $G(n, r)$  is strictly decreasing for  $r > 1$ , we have  $G(n, r) < G(n, 1) = 0$  for  $r > 1$  and the integer  $n > 1$ . Thus,  $F(n, r)$  is strictly decreasing for  $r > 1$  and we obtain

$$\lim_{r \rightarrow \infty} F(n, r) < F(n, r) < \lim_{r \rightarrow 1+0} F(n, r)$$

for the integer  $n > 1$ . From

$$\lim_{r \rightarrow \infty} ((1 - n)\ln r + \ln(-1 + r^n) - \ln(-1 + r)) = \lim_{r \rightarrow \infty} \ln \frac{1 - \frac{1}{r^n}}{1 - \frac{1}{r}} = 0$$

and

$$\lim_{r \rightarrow 1} (\ln(-1 + r^n) - \ln(-1 + r)) = \lim_{r \rightarrow 1} \ln(1 + r + r^2 + \dots + r^{n-1}) = \ln n,$$

we have

$$\lim_{r \rightarrow \infty} F(n, r) = -1 \quad \text{and} \quad \lim_{r \rightarrow 1+0} F(n, r) = 0.$$

Therefore we can get the best possible constants  $\alpha = -1$  and  $\beta = 0$ . Next, we consider the equation

$$\frac{r^{\frac{1-n}{2}}(-1 + r^n)}{n(-1 + r)} = n^{H(n,r)} r^{\frac{1-n}{2}}$$

for  $0 < r < 1$  and the integer  $n > 1$ . The equation is equivalent to

$$H(n, r) = \frac{\ln(1 - r^n) - \ln n - \ln(1 - r)}{\ln n}$$

and the derivative of  $H(n, r)$  is

$$\frac{\partial H}{\partial r}(n, r) = \frac{r - nr^n - r^{1+n} + nr^{1+n}}{(-1 + r)r(-1 + r^n)\ln n}.$$

Since we have

$$\begin{aligned} r - nr^n - r^{1+n} + nr^{1+n} &= r(1 - r^n - nr^{n-1}(1 - r)) \\ &= r(1 - r)(1 + r + \dots + r^{n-1} - nr^{n-1}) > 0, \end{aligned}$$

$\frac{\partial H}{\partial r}(n, r) > 0$  for  $0 < r < 1$  and the integer  $n > 1$ . Since  $H(n, r)$  is strictly increasing for  $0 < r < 1$ , we have

$$\lim_{r \rightarrow 0} H(n, r) = -1 \quad \text{and} \quad \lim_{r \rightarrow 1-0} H(n, r) = 0.$$

Therefore we can get the best possible constants  $\tilde{\alpha} = -1$  and  $\tilde{\beta} = 0$ . By l'Hopital's rule, we have

$$\lim_{n \rightarrow \infty} \frac{r^{\frac{n-1}{2}}}{n} = \lim_{n \rightarrow \infty} \frac{r^{\frac{n-1}{2}} \ln r}{2} = \infty$$

for  $r > 1$  and

$$\lim_{n \rightarrow \infty} \frac{r^{\frac{1-n}{2}}}{n} = \lim_{n \rightarrow \infty} \frac{-\ln r}{2r^{\frac{n-1}{2}}} = \infty$$

for  $0 < r < 1$ . Therefore, we can get  $\lim_{n \rightarrow \infty} \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} = \infty$  and the proof of Theorem 1.4 is complete. ■

*Proof of Theorem 1.5.* We have

$$\begin{aligned} & \frac{A(a_1, a_2, \dots, a_{n+1})}{G(a_1, a_2, \dots, a_{n+1})} - \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} \\ &= \frac{r^{\frac{1-(n+1)}{2}}(-1+r^{n+1})}{(n+1)(-1+r)} - \frac{r^{\frac{1-n}{2}}(-1+r^n)}{n(-1+r)} \\ &= \frac{-n+r^{\frac{1}{2}}+nr^{\frac{1}{2}}-r^{\frac{1}{2}+n}-nr^{\frac{1}{2}+n}+nr^{1+n}}{n(1+n)(r-1)r^{\frac{n}{2}}} \\ &= \frac{F(n, r)}{n(1+n)(r-1)r^{\frac{n}{2}}} \end{aligned}$$

and the derivative of  $F(n, r)$  is

$$\frac{\partial F}{\partial r}(n, r) = \frac{(1+n)(r^{\frac{1}{2}} - r^{\frac{1}{2}+n} - 2nr^{\frac{1}{2}+n} + 2nr^{1+n})}{2r}.$$

We set  $G(n, r) = \ln(2nr^{1+n} + r^{\frac{1}{2}}) - \ln(2nr^{\frac{1}{2}+n} + r^{\frac{1}{2}+n})$  and the derivative of  $G(n, r)$  is

$$\frac{\partial G}{\partial r}(n, r) = \frac{n(-r + r^{\frac{3}{2}+n})}{r^2(1 + 2nr^{\frac{1}{2}+n})}.$$

From  $-r + r^{\frac{3}{2}} < 0$  for  $0 < r < 1$  and  $-r + r^{\frac{3}{2}} > 0$  for  $r > 1$ ,  $G(r)$  is strictly decreasing for  $0 < r < 1$  and strictly increasing for  $r > 1$ . Hence, we have  $G(n, r) > G(n, 1) = 0$  for  $r > 0$  and  $n > 1$ . Hence, we have  $\frac{\partial F}{\partial r}(n, r) > 0$  for  $r > 0$  and  $F(n, r)$  is strictly increasing for  $r > 0$ . By  $F(n, 1) = 0$ , we have  $F(n, r) < 0$  for  $0 < r < 1$  and  $F(n, r) > 0$  for  $r > 1$ . Therefore, we can get

$$\frac{A(a_1, a_2, \dots, a_{n+1})}{G(a_1, a_2, \dots, a_{n+1})} > \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)}$$

for the positive  $r \neq 1$  and the integer  $n > 1$ . We have

$$\begin{aligned} & \ln \left( \frac{A(a_1, a_2, \dots, a_{n+2})}{G(a_1, a_2, \dots, a_{n+2})} + \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} \right) - \ln \left( 2 \frac{A(a_1, a_2, \dots, a_{n+1})}{G(a_1, a_2, \dots, a_{n+1})} \right) \\ &= \frac{H(n, r)}{2}, \end{aligned}$$

where

$$\begin{aligned} H(n, r) &= -2\ln 2 - 2\ln n + 2\ln(1+n) - 2\ln(2+n) - \ln r - 2\ln(-1+r^{1+n}) \\ &\quad + 2\ln(-n-2r-nr+2r^{1+n}+nr^{1+n}+nr^{2+n}) \end{aligned}$$

for  $r > 1$  and

$$\begin{aligned} H(n, r) &= -2\ln 2 - 2\ln n + 2\ln(1+n) - 2\ln(2+n) - \ln r - 2\ln(1-r^{1+n}) \\ &\quad + 2\ln(n+2r+nr-2r^{1+n}-nr^{1+n}-nr^{2+n}) \end{aligned}$$

for  $0 < r < 1$ . The derivative of  $H(n, r)$  is

$$\frac{\partial H}{\partial r}(n, r) = \frac{(1+r^{1+n})I(n, r)}{2r(-1+r^{1+n})(-n-2r-nr+2r^{1+n}+nr^{1+n}+nr^{2+n})},$$

where  $I(n, r) = -n + 2r + nr - 2r^{1+n} - nr^{1+n} + nr^{2+n}$ . The derivative of  $I(n, r)$  is

$$\begin{aligned}\frac{\partial I}{\partial r}(n, r) &= (2+n)(1 - r^n - nr^n + nr^{1+n}) \\ &= (2+n)(1-r)(1+r+r^2+\dots+r^{n-1} - nr^n).\end{aligned}$$

From  $\frac{\partial I}{\partial r}(n, r) > 0$  for  $0 < r < 1$  and  $r > 1$ ,  $I(n, r)$  is strictly increasing for  $r > 0$ . By  $I(n, 1) = 0$ , we have  $I(n, r) < 0$  for  $0 < r < 1$  and  $I(n, r) > 0$  for  $r > 1$ . Thus, we can get  $\frac{\partial H}{\partial r}(n, r) < 0$  for  $0 < r < 1$  and  $\frac{\partial H}{\partial r}(n, r) > 0$  for  $r > 1$ . Therefore,  $H(n, r)$  is strictly decreasing for  $0 < r < 1$  and  $H(n, r)$  is strictly increasing for  $r > 1$ . By l'Hopital's rule, we have

$$\begin{aligned}\lim_{r \rightarrow 1} \frac{-n - 2r - nr + 2r^{1+n} + nr^{1+n} + nr^{2+n}}{-1 + r^{1+n}} \\ = \lim_{r \rightarrow 1} \frac{-2 - n + 2(1+n)r^n + n(1+n)r^n + n(2+n)r^{1+n}}{(1+n)r^n} = \frac{2n(2+n)}{1+n}.\end{aligned}$$

Hence, we obtain  $H(n, r) > \lim_{r \rightarrow 1} H(n, r) = 0$  and

$$\frac{A(a_1, a_2, \dots, a_{n+2})}{G(a_1, a_2, \dots, a_{n+2})} + \frac{A(a_1, a_2, \dots, a_n)}{G(a_1, a_2, \dots, a_n)} > 2 \frac{A(a_1, a_2, \dots, a_{n+1})}{G(a_1, a_2, \dots, a_{n+1})}$$

for the positive  $r \neq 1$  and the integer  $n > 1$ , so the proof of Theorem 1.5 is complete. ■

Finally, we propose an open problem.

**Problem 1.** Let  $p$  be the real number with  $p > -1$ , then the rational expression  $\frac{A_{n,p}}{G_{n,p}}$  is strictly increasing for the integer  $n > 1$ , where  $A_{n,p} = A(1^p, 2^p, \dots, n^p)$  and  $G_{n,p} = G(1^p, 2^p, \dots, n^p)$ .

## REFERENCES

- [1] P. M. HUMMEL, Questions, Discussions, and Notes: A Note on Stirling's Formula, *Amer. Math. Monthly*, **47** (1940), pp. 97–99.
- [2] K. KNOPP, *Theory and Application of Infinite Series*, Blackie And Son Limited, 1954.
- [3] R. P. KUBELKA, Means to an end, *Math. Mag.*, **74** (2001), pp. 141–142.
- [4] B. J. MCCARTIN, e: The master of all, *Math. Intelligencer*, **28** (2006), pp. 10–21.
- [5] M. HASSANI, Restricted factorial and a remark on the reduced residue classes, *Appl. Math. E-Notes*, **16** (2016), pp. 244–250.
- [6] M. HASSANI, On the arithmetic-geometric means of positive integers and the number  $e$ , *Appl. Math. E-Notes*, **14** (2014), pp. 250–255.
- [7] M. HASSANI, On the ratio of the arithmetic and geometric means of the prime numbers and the number  $e$ , *Int. J. Number Theory*, **9** (2013), pp. 1593–1603.